ECONOMICS

BOOKS - RADHA BHUGANA
ECONOMICS (HINGLISH)

PRODUCER BEHAVIOUR AND SUPPLY



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Complete the following table :

Units of Labour

2

3

Average Product (units)

10

Marginal Product (units)

10

o Watch Video Solution

2. The following table gives total product

schedule of labour. Find average product and

marginal product schedules of labour.

Labour

e s

TP of Labour(UniB) '

15

35

50

40

48

° Watch Video Solution



https://dl.doubtnut.com/l/_WVyQh7wHnSXH
https://dl.doubtnut.com/l/_WZjxfeZS7chX

3. Calculate AP and MP from the following

schedule :

Variable Factor ! 0 ' 1 l 5[3 4
Total Product (T7) (Units) ' 0 | 8 | 20 | 28 | 28 | 20 |

o Watch Video Solution

4. Calculate TP and AP :

Variable Foctor 1 ]2 SRRk
e (inwnits) | 24 | 2 | 16 | 12 |

o Watch Video Solution



https://dl.doubtnut.com/l/_WZjxfeZS7chX
https://dl.doubtnut.com/l/_ECqX8cFnTXI6
https://dl.doubtnut.com/l/_dE81GKv5rBU5
https://dl.doubtnut.com/l/_DIfrtNxGnvbm

5. Following table gives the marginal product
schedule of labour. It is given that the total
product is zero at zero level of Ilabour
employment. Calculate total and average

product schedules.

Labour 1213 1 4
MP of Labour (Units) 3 5 7 5

w o,
Jussisi i
: ]
L

° Watch Video Solution

6. Following table gives the AP schedule of

labour. Find the TP and MP schedules . It is


https://dl.doubtnut.com/l/_DIfrtNxGnvbm
https://dl.doubtnut.com/l/_MVO3j0h45oSC

given that the TP is zero at zero level of labour

employment.
Labour : 4 5 {, 6
AP of Labour (Units) | 2 425 | 4 | 350

° Watch Video Solution

7. |dentify the three phases of the law of

variable proportions from the following and

also give reason behind each phase.

{Units of Variable Tnput | 1

2

3

g
4

TP (Units) |10

22

30

s |
35 | 30 1

° Watch Video Solution



https://dl.doubtnut.com/l/_MVO3j0h45oSC
https://dl.doubtnut.com/l/_Ue7IRaslNb41

8. Identify the different output levels, which
mark the three phases of the operation of the

law of variable proportions, from the following

table :

8o

Units of Variable Factor 0 1 2 3 | 4
TP (in Units) 0 | 8 | 20| 28 | 28 |

o Watch Video Solution

9. Calculate the MP of variable factor and

indicate the various phases of law of variable


https://dl.doubtnut.com/l/_Ue7IRaslNb41
https://dl.doubtnut.com/l/_HImygIzdcwNM
https://dl.doubtnut.com/l/_WtH5yf1DfX6i

proportions from the following schedule:

Units of Vaniable Factor 0 1 2 3 4 \ 5 6
TP(in Units) 0 40 110 { 150 | 180 i 180 | 140

o Watch Video Solution

10. Let the production function of a firm be
Q = 5L'2K'/?  Find the maximum possible
output that the firm can produce with 100

units of L and 100 units of K.

o Watch Video Solution



https://dl.doubtnut.com/l/_WtH5yf1DfX6i
https://dl.doubtnut.com/l/_GLFyk6BNYrT7

1. When TP increases at increasing rate, MP

A. falls
B. rises
C.remains constant

D. all of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_t0dKm7HkSBeq

2. When MP is more than AP

A. AP rises

B. AP falls

C. AP remains constant

D. none of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_aWS7wPBiTsgl

3. The time period in which production can be
increased by increasing the quantity of
variable factor only

A. very short period

B. long period

C. short period

D. none of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_KJ0ivq2fsgjK

4. Production function refers to functional

relationship between inputs and

A. cost

B. output

C.revenue

D. profit.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_vk13Ugvx5eYJ
https://dl.doubtnut.com/l/_Hl5JUMVtoKmD

5. Total product falls when MP

A. falls positively

B. rises

C.is zero

D. is negative

Answer: D

° View Text Solution

6. Identify the fixed factor in short run:


https://dl.doubtnut.com/l/_Hl5JUMVtoKmD
https://dl.doubtnut.com/l/_WCBaG6X22f6F

A. labour

B. raw material

C.land

D. none of these

Answer: C

o View Text Solution

7.50 long as Average product is increasing:

A. Marginal product is falling


https://dl.doubtnut.com/l/_WCBaG6X22f6F
https://dl.doubtnut.com/l/_OoJJtuui30Dy

B. Marginal product is rising

C. Marginal product is greater than

average product

D. Marginal product is smaller than

average product

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_OoJJtuui30Dy

8. When TP curve is upward sloping and

convex to X axis, MP curve is :

A. downward sloping

B. upward sloping

C. touches X axis

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_AV4bD9ST9oCb

1. What is meant by returns to a factor ?

° View Text Solution

2. What are volume discounts ?

° View Text Solution



https://dl.doubtnut.com/l/_P4iXZAUNWhBd
https://dl.doubtnut.com/l/_Yev7bDT8gATb

3. What is meant by law of variable proportion

?

o View Text Solution

4. What does division of labour mean ?

o View Text Solution

5. Give meaning of increasing returns to a

factor.



https://dl.doubtnut.com/l/_jqD9R1iu7xV9
https://dl.doubtnut.com/l/_M8EFD9fmzmNq
https://dl.doubtnut.com/l/_5Oaa8UDElqRi

View Text Solution

6. What is law of diminishing returns to a

factor or diminishing marginal product ?

o View Text Solution

7.What are the three phases of law of variable

proportions?

o View Text Solution



https://dl.doubtnut.com/l/_5Oaa8UDElqRi
https://dl.doubtnut.com/l/_waU8Fbcbx6ZZ
https://dl.doubtnut.com/l/_qvKZBTFaBg8l
https://dl.doubtnut.com/l/_2CRWGFjxA5jE

8. What is the relationship between TP and MP

?

o View Text Solution

9. What is the relationship between AP and MP

?

o View Text Solution



https://dl.doubtnut.com/l/_2CRWGFjxA5jE
https://dl.doubtnut.com/l/_lIxK3mC5hUr9

10. What is the relation of AP, when :
(i) MP is more than AP
(ii) MP is less than AP

(ili)MP is equal to AP ?

° View Text Solution

11. Four units of labour produce 1000 units of
output and 5 units of labour produce 1200

units of output. Calculate MP of the labour.

° Watch Video Solution



https://dl.doubtnut.com/l/_hhqIqVyXkUFk
https://dl.doubtnut.com/l/_81xE13pCtdhb

12. What is the general shape of the TP, AP and

MP curves ?

o View Text Solution

13. Name the law expressing the relationship
between the quantities of a variable factor

and the quantities of output.

o View Text Solution



https://dl.doubtnut.com/l/_81xE13pCtdhb
https://dl.doubtnut.com/l/_ERmdiwz6kFP0
https://dl.doubtnut.com/l/_tTIdVPemT3gz
https://dl.doubtnut.com/l/_4T9DK3XmcyWO

14. Mention three reasons for occurrence of

the phase of increasing returns to a factor.

o View Text Solution

15. In which phase of law of variable

proportions, a rational firm aims to operate ?

o View Text Solution

Conceptual


https://dl.doubtnut.com/l/_4T9DK3XmcyWO
https://dl.doubtnut.com/l/_j1GQI2ppvhjS

1. What is production function ?

o View Text Solution

2. When APP is maximum, what is the relation

between MPP and APP ?

° View Text Solution

3. What is meant by inputs ?

° View Text Solution



https://dl.doubtnut.com/l/_z9J8p3c8T2Ap
https://dl.doubtnut.com/l/_O9uLp1VLNBuS
https://dl.doubtnut.com/l/_Ox0Q29cG9W5Q

4. Wheel APP rises, what is the relation

between MPP and APP ?

o View Text Solution

5. What meant by output ?

o View Text Solution



https://dl.doubtnut.com/l/_Ox0Q29cG9W5Q
https://dl.doubtnut.com/l/_BMjO1xaADmwc
https://dl.doubtnut.com/l/_gTvM9Yy3y59j

6. What happens to TPP when MPP of the

variable input is negative ?

o View Text Solution

7.What is meant by short run (short period) ?

o View Text Solution

8. When APP falls, what is the relation between

MPP and APP ?



https://dl.doubtnut.com/l/_7q4b1UDyIoxZ
https://dl.doubtnut.com/l/_oebgFDB5Gvvk
https://dl.doubtnut.com/l/_C4OVaD070ZRy

View Text Solution

9. What is meant by long run (long period) ?

o View Text Solution

10. When MPP is falling and is positive, at what

rate TPP is changing ?

o View Text Solution



https://dl.doubtnut.com/l/_C4OVaD070ZRy
https://dl.doubtnut.com/l/_FRFSNmnB19un
https://dl.doubtnut.com/l/_uL36QAkf1xw1

11. Nama any three fixed inputs

o View Text Solution

12. When TPP maximum, what an you say about

MPP ?

o View Text Solution

13. State the behaviour of MPP, under Returns

to a factor.



https://dl.doubtnut.com/l/_5288igADJW2U
https://dl.doubtnut.com/l/_4hu3Op1G1j6D
https://dl.doubtnut.com/l/_sfIppEKroukh

View Text Solution

14. List any four inputs used in production.

o View Text Solution

15. What tuill you say about MPP of a factor

when TPP rises at an increasing rate ?

o View Text Solution



https://dl.doubtnut.com/l/_sfIppEKroukh
https://dl.doubtnut.com/l/_fzU7ciJaocz4
https://dl.doubtnut.com/l/_PITL4KOldHLK

16. Can there be fixed cost of a firm in the long

run ?

° View Text Solution

17. As the variable input is increased by one
unit, total output falls What would you about

marginal productivity of labour ?

° View Text Solution



https://dl.doubtnut.com/l/_nq4wpzT6GoH0
https://dl.doubtnut.com/l/_CFlTcCpKSFMh

18. What is meant by total physical product

(TPP) or total product ?

° View Text Solution

19. What will you say about MPP of a factor

when TPP is rising at diminishing rate?

o View Text Solution



https://dl.doubtnut.com/l/_qeLcFTyQhaOc
https://dl.doubtnut.com/l/_YViXkszSViqC

20. What is meant by average physical product

(APP) or average product ?

o View Text Solution

21. What will you say about MPP of a factor in

TPP is falling ?

o View Text Solution



https://dl.doubtnut.com/l/_wIOnnpe4dRSL
https://dl.doubtnut.com/l/_NwD17v44G1Qv

22. What is meant by marginal physical

product (MPP) or marginal product ?

o View Text Solution

23. What is the general shape of APP curve ?

o View Text Solution

24.How is TPP derived from MPP schedule ?

o View Text Solution



https://dl.doubtnut.com/l/_jFXGYy6RTzgH
https://dl.doubtnut.com/l/_f24SVm8glE8y
https://dl.doubtnut.com/l/_AHBkfffj5ibk

25. Wat is the general shape of MPP curve ?

° View Text Solution

1. Giving reasons , state whether the following
statements are true or false :
()When there are diminishing returns to a

factor, total product always decreases


https://dl.doubtnut.com/l/_AHBkfffj5ibk
https://dl.doubtnut.com/l/_OOKCkuttK2oq
https://dl.doubtnut.com/l/_TJAqeaV86MPX

(i)Total product will increase only when
marginal product increases

(iii)increase in total product always indicates
that there are increasing returns to a factor
(ivY\When there are diminishing returns to a
factor, marginal and total product both always
fall

(vi)AP rises only when MP rises

o View Text Solution



https://dl.doubtnut.com/l/_TJAqeaV86MPX

2. Why MP curve curs AP curve at maximum

point ?

o View Text Solution

3. Can AP rise when MP starts declining ?

o View Text Solution

4.|s it possible to postpone the law of variable

proportion ?



https://dl.doubtnut.com/l/_EpLHeqZtL350
https://dl.doubtnut.com/l/_TU44dhQcYmP7
https://dl.doubtnut.com/l/_g0pqsV02iT1N

View Text Solution

5. Cut of 1st,2nd and 3rd phases, which phase
of production will the producer stop at ?

Or

Till which point should a producer keep
increasing the variable factor to get maximum

profit ?

° View Text Solution



https://dl.doubtnut.com/l/_g0pqsV02iT1N
https://dl.doubtnut.com/l/_vhFE1dUxoM7h

6. Calculate TP from the following data :

Units of Variable Factor | 1 2 3 | 4 | 5 |
MP (in Units) | 20 18 15 0 -10 ;

o Watch Video Solution

Value Based

1. A company plans to expand its operations in

the coming year. It is situated near a town
where there is availability of labour at

reasonable rates, Also the effective machinery


https://dl.doubtnut.com/l/_N0QMub5AwXaP
https://dl.doubtnut.com/l/_hhvoWKdk58e1

for production can be obtained easily. The
company as caught between the choice of

technique of production. What do you suggest

?

o View Text Solution

2. Firm A decides to increase its production
and produce the goods in the different plants.
In the existing plant labour is in excess and its
marginal production is negative. The firm

decides to shift some labour from the existing


https://dl.doubtnut.com/l/_hhvoWKdk58e1
https://dl.doubtnut.com/l/_Tp3J1Q4bxQFz

plant to the second plant. Should this transfer

be facilitated ? What will be the outcome ?

° View Text Solution

3. (a)What is the relation between average
production and marginal production ?

(b)What should be an ideal measure to
determine wage rate of Ilabour in a

competitive economy

° View Text Solution



https://dl.doubtnut.com/l/_Tp3J1Q4bxQFz
https://dl.doubtnut.com/l/_vvvkwhFV4EQ8

1. Explain the concept of production function.

° View Text Solution

2. Define Total Product, Average Product and

Marginal Product.

o View Text Solution



https://dl.doubtnut.com/l/_gez1cf6uG3p5
https://dl.doubtnut.com/l/_ssZuRpncH28A

3. Explain the relationship between the
Marginal Product and Total Product of an

input.

o View Text Solution

4. Explain the concept of short run and the

long run

o View Text Solution



https://dl.doubtnut.com/l/_20aLVSfenvHr
https://dl.doubtnut.com/l/_zDKXWEwhuzlo

5. What is the law of diminishing marginal

product ?

o View Text Solution

Very Short Answer

1. What is meant by production ?

o View Text Solution



https://dl.doubtnut.com/l/_H4oQuztEpEwX
https://dl.doubtnut.com/l/_RN6WKtcJstHN

2. Give the meaning of production function
Or

Define production function

o View Text Solution

3.In which period, some factors of production

are fixed and other variable ?

o View Text Solution



https://dl.doubtnut.com/l/_kj4BQVUIkZpn
https://dl.doubtnut.com/l/_VTaAPOs7YFMR

4. What do you mean by variable factors ?

o View Text Solution

5. What do you mean by fixed factors ?

o View Text Solution

6. Can marginal product be zero or negative ?

o View Text Solution



https://dl.doubtnut.com/l/_MAxB4sCrTgTo
https://dl.doubtnut.com/l/_oKCCYqTkEhln
https://dl.doubtnut.com/l/_cTY6eLyVivFj

7. Define marginal physical product/marginal

product.

° View Text Solution

8. What change will take place in marginal
product, when total product increases at a

diminishing rate ?

° View Text Solution



https://dl.doubtnut.com/l/_G8eFpg810E2Z
https://dl.doubtnut.com/l/_dt7foG7eTDbs

9. As the variable input is increased by one
unit total output falls. What can you say about

the marginal productivity of variable input ?

o View Text Solution

10. What will happen to MP, when TP increases

at diminishing rate ?

° View Text Solution



https://dl.doubtnut.com/l/_rO0KwFdjIvJh
https://dl.doubtnut.com/l/_tiYH5gF4A06l

1. What is law of diminishing marginal

product ?

o View Text Solution

12. When MP is zero, what can you say about

TP ?

o View Text Solution



https://dl.doubtnut.com/l/_QwiheHbyaUbd
https://dl.doubtnut.com/l/_R3YK3HlsLN3U

13. How will AP change, when TP rises at a

diminishing rate ?

o View Text Solution

14. Give meaning of 'retuns to a factor'.

o View Text Solution

Short Answer


https://dl.doubtnut.com/l/_dtpOTAMzNGHt
https://dl.doubtnut.com/l/_HmIyLa6JEswn

1. Explain the concept of production function

o View Text Solution

2. What is meant by variable factor and fixed

factor ? Give Two examples of each.

° View Text Solution

3. Define the following terms: (i) Total product

(i) Average product (iii) Marginal product



https://dl.doubtnut.com/l/_9uYyoFyRrZ7p
https://dl.doubtnut.com/l/_JKwqAbo0reyg
https://dl.doubtnut.com/l/_fkIxvctIc76m

View Text Solution

4. What is meant by returns to a factor ? State

the law of diminishing returns to a factor

o View Text Solution

5. Briefly discuss the relationship between AP

and MP.

o View Text Solution



https://dl.doubtnut.com/l/_fkIxvctIc76m
https://dl.doubtnut.com/l/_VQMS6fzHi6Qi
https://dl.doubtnut.com/l/_wmKQMkXeoJHp
https://dl.doubtnut.com/l/_i7AkzhAeoEni

6. What is meant by returns to a factor ? What
leads to increasing returns to a factor ?

Explain

o View Text Solution

7. What is meant by diminishing returns to a

factor? Why does it occur ?

° View Text Solution



https://dl.doubtnut.com/l/_i7AkzhAeoEni
https://dl.doubtnut.com/l/_rrlFDMtMjCEF

8. In which phase a rational producer will

operate in the short run ?

o View Text Solution

9. Giving reasons explain the Law of Variable

Proportions

o View Text Solution

10. Relate TP and MP using a schedule.



https://dl.doubtnut.com/l/_uP7Q9uiDJkUy
https://dl.doubtnut.com/l/_dtbSZfecWUhr
https://dl.doubtnut.com/l/_8m6ROtUJ8R5l

o Watch Video Solution

11. Complete the following table :

Units of Labour | 1 2 3 4 5 6
AP (Unis) 8 10 - ? - 7
[P (units) - - 10 - 4 -

° Watch Video Solution

12. State the behaviour of marginal product in
the law of variable proportions. Explain the

causes of this behaviour.

° View Text Solution



https://dl.doubtnut.com/l/_8m6ROtUJ8R5l
https://dl.doubtnut.com/l/_GrIqA2CHVJr6
https://dl.doubtnut.com/l/_aQ84yekiKmt0

13. State different phases of the law of variable

proportions on the basis of TP. Use diagram.

o Watch Video Solution

14. Explain the changes that take place in total
product and marginal product under

increasing/diminishing returns to a factor.

o View Text Solution



https://dl.doubtnut.com/l/_aQ84yekiKmt0
https://dl.doubtnut.com/l/_Pqi8sa9B1xws
https://dl.doubtnut.com/l/_LpT8Wyi1wHTv
https://dl.doubtnut.com/l/_HltW9tPKufMO

15. Define marginal product, state the
behaviour of marginal product when only one
input is increased and other inputs are held

constant.

o View Text Solution

16. Give the behaviour of marginal product and
total product as more and more units of only
one input are employed while keeping other

inputs as constant.

I o View Text Solution


https://dl.doubtnut.com/l/_HltW9tPKufMO
https://dl.doubtnut.com/l/_Gyymo6VqAdNK

1. Explain the law of variable proportions with
the help of total and marginal physical

product curves.

o Watch Video Solution

2. Discuss the relationship between (i) MP and

TP (ii) AP and MP



https://dl.doubtnut.com/l/_Gyymo6VqAdNK
https://dl.doubtnut.com/l/_7SXwOVAt42B2
https://dl.doubtnut.com/l/_z59IFJcvWOVM

[ ° View Text Solution

3. Distinguish between: (i)Variable factors and

fixed factors (ii) Short run and long run

o View Text Solution

4. Explain the reasons for : (i)Increasing
returns to a factor (ii) Diminishing returns to a

factor.

o View Text Solution



https://dl.doubtnut.com/l/_z59IFJcvWOVM
https://dl.doubtnut.com/l/_5kIWxwiRxAiT
https://dl.doubtnut.com/l/_Y2BBq0FkMtcO

5. Explain the law of diminishing returns with
the help of a hypothetical schedule and

diagram.

o Watch Video Solution

6. Explain the likely behaviour of total product
and marginal product when for increasing
production only one input is increased while

all other inputs are kept constant.

I o View Text Solution


https://dl.doubtnut.com/l/_Y2BBq0FkMtcO
https://dl.doubtnut.com/l/_V4X4p0x1STNz
https://dl.doubtnut.com/l/_9NhGzvUh95AV

7. Giving reason, state whether the following
statements are true or false

(1) AP will increase only when MP increases.

(i) Under diminishing returns to a factor TP

continues to increase till MP reaches zero.

o View Text Solution

8. What are the different phases in the law of

variable proportions in terms of marginal


https://dl.doubtnut.com/l/_9NhGzvUh95AV
https://dl.doubtnut.com/l/_IgFlkPSkP6IM
https://dl.doubtnut.com/l/_qdSX5ig9pIFx

product ? Give reason behind each phase. Use

diagram.

° Watch Video Solution

Unsolved Numericals

1. Calculate TP and AP from the folllowing data

1 2 3 4 5\
20 10 8 6 4\

o Watch Video Solution



https://dl.doubtnut.com/l/_qdSX5ig9pIFx
https://dl.doubtnut.com/l/_vSUpMTn84y7H

2. Calculate TP and MP from the following

table :

o Watch Video Solution

3. Calculate TP and AP from the followig :

1 2 3 4 5
20 16 14 0 -10

o Watch Video Solution



https://dl.doubtnut.com/l/_dMXeQ0gy1zY4
https://dl.doubtnut.com/l/_v19HA9pD3pli

4. Calculate the AP and MP from the following

20

42 60

76

90

o Watch Video Solution

5. Calculate the following schedule :

APP (Units)

MPP (Units)

140

140

o Watch Video Solution



https://dl.doubtnut.com/l/_pTRLZrvQq5Au
https://dl.doubtnut.com/l/_LsXzvQfHPlIz

Let Us Recapitulate

1. Calculate TP and MP from the following data.
Indicate the various phases of law of variable
proportions. In which phase, a rational firm

will try to operate ?

Lo | 1 2 s | s | e 7 s
4 6 | 3 o2 o1 |

|
[ ar 2 3

P

o Watch Video Solution



https://dl.doubtnut.com/l/_Zu6KxyPxL4bW

